OO®E)

8+ 2=
WE@

13.

3-1=
0000,

17.

6+ 4=

BB

© MaxKlug.de

2.8_4= 3.8_0= 4.6+4=
OOO® GOEO OEOE
6.9_ ) 7.8+2= 8.8+6=
OOOE WEWE  OEE
10.5+3= 11.7+4= 12.9+3=
BHE®O OO GEO®
14.7+2= 15.3_ ) 16.7_1=
OO GOO® OOE®
18.8_3= 19.5+2= 20.6_1=
OEE® GEOm OO

* %

Gemischte Aufgaben



3-1=

OOO®®

OO®E)

8+ 2=
Q00

13.

3 - =
01000

17.

6+ 4 =

BHEO@E)

© MaxKlug.de

* %

Gemischte Aufgaben

2.8_4: 3.8_0: 4.6+4:
®OO® GOO®WO OEOE
6.9_4= 7.8+2= 8.8+6=
OHOOG @EOHE @O
10.5+3= 11.7+4= 12.9+3=
BHEOOO GO OGO®
14.7+2= 15.3_ ) 16.7_1=
OOO® GOOG® OHOOE®
18.8_3= 19.5+2= 20.6_1=
OEOO® OO®® OOE®



